


Not yet answered

Marked out of .00

1" Flag question

Patients arrive at an
emergency department
according to a Poisson
process with-a mean of 6 per
hour. What is the probability
that more than 30 minutes is
required for the third arrival?

Select one:
O a.0632

O b.0.758
Q c.005
O d.0.423
Q e.0.242
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Question 3

Not yet answered
Marked out of LOO

V" Flag question

suppose that f(x) =e"*2) for
2<x. Determine x such that
P(X<x) = 0.85.

Select ane:
QO a.7.5862

O b.-0.258
Q c.-2.996
Q d.5.996
Q e.3.897

Jump to...




6:59
4 WhatsApp

Done

A company has been
monitoring their sales, and
based on the history of data
collected, they can provide
the following probability
distribution for the number
of sales per week per
salesperson. What is the sales
per week per person standard
deviation? (Round to the

nearest two decimal places)

Number of sales per week Probability f(x

0 0.09
10 0.15
20 0.42
30 0.26
40 0.08

ANswer:
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Marked out of 1.00

¥ Flag question

A manufacturer of wires has
4% defective of produced
wires. Assume that the wires
are independent and that a
batch contains 1000 chips.
Find the probability
(approximately) that less
than 25 chips are defective?

Select one;
O a.0.8460

© b.0.9938
O c.0n4l
© d.0.0062
O e.0.500
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I Flog questian

suppoze that H'.v} = g {x-2} for
2<% Determine x such that
P(X<x) = 0.85
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Clear my choice
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